Ice Cream Menu

3 Strawberry Swirl £3.80

10 Two scoops of delicious, pink ice cream
15 with a sticky strawberry sauce.

18 Chocolate Chunks £4.50
25 Three scoops of rich, tasty ice cream
30 with large chunks of chocolate.
33 Vanilla Volcano £3.20

41 A huge scoop of yummy vanilla ice cream
49 covered in popping candy as an extra treat.

52 Raspberry Ripple £4.50

61 Three scoops of soft, fruity ice cream with real

64 pieces of raspberry.

67 Banana Split £4.70

72 Warm banana slices covered in
78 creamy, melting ice cream with a
82 cherry on the top.

85 Mighty Mint £3.80

91 Cool, refreshing ice cream with chocolate

97 chips and a crunchy, square wafer.
100 Cookie Crush £5.10

108 Four scoops of sweet ice cream topped with

110 crushed cookies.

Quick Questions

. Which ice cream on the menu has a cherry

on the top?

. Find and copy two words from the text

that are used to describe the wafer.

. Why do you think that the Cookie Crush

ice cream costs the most?

. Which item appears first on the menu?

Tick one.
Raspberry Ripple
Mighty Mint

Strawberry Swirl
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10 Two scoops of delicious, pink ice cream \\X
15 with a sticky strawberry sauce.

18 Chocolate Chunks £4.50

25 Three scoops of rich, tasty ice cream
30 with large chunks of chocolate.

33 Vanilla Volcano £3.20

41 A huge scoop of yummy vanilla ice cream

49 covered in popping candy as an extra treat.

52 Raspberry Ripple £4.50

61 Three scoops of soft, fruity ice cream with real
64 pieces of raspberry.

67 Banana Split £4.70

72 Warm banana slices covered in

78 creamy, melting ice cream with a

82 cherry on the top. %
85 Mighty Mint £3.80

91 Cool, refreshing ice cream with chocolate

97 chips and a crunchy, square wafer.
100 Cookie Crush £5.10
108 Four scoops of sweet ice cream topped with
110 crushed cookies.

Answers

. Which ice cream on the menu has a cherry

on the top?
The Banana Split ice cream
has a cherry on the top.

. Find and copy two words from the text

that are used to describe the wafer.

e crunchy
e square

. Why do you think that the Cookie Crush

ice cream costs the most?

Accept any sensible answer, such as: I
think that the Cookie Crush ice cream
costs the most because it has the most
scoops of ice cream.

. Which item appears first on the menu?

Tick one.

[ ] Raspberry Ripple
[ ] Mighty Mint
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